> A
A & 0l & AF 2 E A A
2021 &= Z20la LBSH T2ALERE XYL ~ T2 ALY of & 2 TH 1t
FN: EZANEER NGHLH
M ARG EEZWSIIBES
S AYESE E2EFFH| CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CEMGEESR NG 15,700,760 14,066,961 1,633,799
s 2,191,500
< 435,000
Al 13,074,260
AMOZRSIHEZNEI|EBIEH 15,315,593 12,944,343 2,371,250
s 2,191,500
< 435,000
Al 12,689,093
AMOZSHE S 2 EH| 11,529,585 10,760,554 769,031
s 2,191,500
< 435,000
Al 8,903,085
WSMD ZE 2 HEAY 1,002,300 1,480,000 A477,700
s 500,000
Al 502,300
401 AIEHI L 201 1,002,300 1,480,000 AA477,700
s 500,000
Al 502,300
01 A& Bl 1,000,000 1,476,000 A 476,000
OM22dW & ML WEMD RS 2 HAA
e 480,000,000& 480,000
s 240,000
Al 240,000
Q& AN S 3L nsEAD &2 2 o
A 20,000,000 520,000
s 260,000
Al 260,000
03 Al 2 THHI 2,300 4,000 A 1,700
OWEALD F2 R MAAY AU
1,000,000,000& * 0.23% 2,300
WXZ ALY 302,160 302,160 0
401 AIEHIZL 201 302,160 302, 160 0
01 A& HI 300,000 300,000 0
&Y ZothtelAtHel =2 WA AL
100,000, 000& 100,000
OHEE &5 L HLEAL(THA)
200,000, 000& 200,000
03 A& =2 THHI 2,160 2,160 0
OuWXtZ N AL 300,000,000& * 0.72% 2,160
MWAE XA 841,932 560,000 281,932
s 420,000
Al 421,932
401 Al HI K 2018 841,932 560,000 281,932
s 420,000
Al 421,932
01 A& HI 840,000 558,000 282,000




FN: EZANEER NGHLH
M ARG EEZWSIIBES
Sl MRS T2E I CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEE U8 FH SMUXZ EXAY
280,000, 000& 280,000
s 140,000
Al 140,000
O2EE SEH0IR dH = IMIXZ &
ALY 280,000, 000& 280,000
s 140,000
Al 140,000
OSg8s SEHIZAN =8 HUIIZ XA
280,000, 000& 280,000
s 140,000
Al 140,000
03 AIE S THHI 1,932 2,000 A68
O3z HXIALY  840,000,000& » 0.23% 1,932
SEHEE HEAY 730,000 790,000 260,000
s 350,000
Al 380,000
401 AIEHI L 2 CHYI 730,000 790,000 A 60,000
s 350,000
Al 380,000
01 A& HI 730,000 790,000 260,000
O22ds BLSIMLEAY, SS210t 2T
UEE ZHAIY SIHEIIE 430,000,000 30,000
O=2ds 2dEF MEAY 700,000,000 700,000
s 350,000
Al 350,000
TS A DAL 3,423,820 3,429,234 A5, 414
401 Al HI K 201 3,423,820 3,429,234 A5, 414
01 A& Hl 3,420,000 3,420,000 0
OLHAMZ SEHd FH A 200,000, 000& 200,000
OXEEM 298 A 400,000,000& 400,000
SHAY LM ZA 600,000,000& 600,000
OAXNUZ S 5MHd XHZMI AL
500,000,000& 500,000
OANAMUZ S 5 d X ZMI AL
500,000, 000& 500,000
1=z S 3Med IESMIA
150,000, 000& 150,000
O2=8=2 S 3Medd T MIA
150,000, 000& 150,000
oY=z S 5Hed ATETSMIA
150,000, 000& 150,000
OM2Z S 5Hed ITESMIA
150,000, 000& 150,000
ORESZ S 5Md ANEZMI AL
150,000, 000& 150,000




FN: EZANEER NGHLH
M ARG EEZWSIIBES
S AYESE E2EFFH| (SH9: &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORHANZ S 5Md ANEZMI A
150,000, 000& 150,000
o=2gclst Utz ZFAZ 70,000,000& 70,000
O0ell-Es 2 I MIA
250,000, 000& 250,000
03 A& =TI 3,820 9,234 A5,414
O Xt = A Z At 3,820,000,000& * 0.1% 3,820
WSHEAIE=E X £ WHAE 802,160 1,006,300 A 204,140
401 AIEHIZ 28I 802,160 1,006,300 A 204,140
01 A& Bl 800,000 1,000,000 200,000
OusHdANL=s X ¥ WA
300,000,000 300,000
OLLSHZ(0IHEZE S) HUIAZ
200,000,000 200,000
OFFA ZHOHAEEE 5030 ST GHEALY
300,000,000 300,000
03 Al 2 THHI 2,160 6,300 A 4,140
OusAUHdANL=s X ¥ WA
800,000,000& * 0.27% 2,160
e 22 S JHAALS 241,728 302, 160 260,432
401 A& BIZ 201 8I 241,728 302,160 260,432
01 A& tl 240,000 300,000 260,000
O=sgs FOUHH & S 401A 24 8H
& AXIALE 60,000,000 * 404 A 240,000
03 Al S THHI 1,728 2,160 A432
OW2AH BHET N AL
240,000,000& * 0.72% 1,728
T2 ANE SR 909,527 710,395 199,132
201 et 255,432 56,300 199,132
02 2324l 255,432 55,160 200,272
ORWSH=EJH0ct Z I At
2,200,000 * 900 A& 198,000
ORUuWSH=JHNct & HZ2E HIRS
8,000 * 9204 * 128 8,832
ORolws=H=EJtHet SHRS
45,0003 * 900 A * 128 48,600
401 Al B2 28I 654,095 654,095 0
01 A& HI 650,000 650,000 0
OLZ2¢td RANE==AY
30,000,000 = 50 A 150,000
OEXNEE MHEAEY 500,000,000 500,000
03 AIE2 2 THHI 4,095 4,095 0




FA TZAYER NI
M AMRZRSIEEZNEIIBEY
AMOZSHE S =& EH| ce &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OEZANE FX2elAS
650,000,000& * 0.63% 4,095
20279 HEAEY 1,571,880 1,713,040 A 141,160
s 384,500
Al 1,187,380
401 Al& I 28I 1,571,880 1,713,040 A 141,160
s 384,500
Al 1,187,380
01 A& HI 1,569,000 1,708,000 A 139,000
O0eolE2s 7Y e ¥ KRA2ACIAY
800,000,000& 800,000
OsatxSsw S 44 HEl0EBERY WA
A 349,000,000 349,000
s 174,500
Al 174,500
O=s%¥xSsW S 3L HElOEEZRY A
A 420,000,000 420,000
= 210,000
Al 210,000
03 AIE =2 0HHI 2,880 5,040 A2,160
O0eolE2Es 7Y M ¥ KRA2ACIAY
800,000,000& * 0.36% 2,880
LESHHE HHAY 656,355 444,000 212,355
= 327,000
Al 329,355
401 AIEHIZ 28I 656,355 444,000 212,355
s 327,000
Al 329,355
01 A& HI 654,000 443,000 211,000
OUMELRARA S 4L o853y A
A 271,000,000& 271,000
s 135,500
Al 135,500
OsHiel BZ2Y S 44 Lo8s2e A
A 199,000, 000& 199,000
s 99,500
Al 99,500
ogleel BZ2Y S 4L LoaEs2H A
A 184,000, 000& 184,000
s 92,000
Al 92,000
03 Al 2 0HHI 2,355 1,000 1,355
OLeEs 7Y HAAY
654,000,000& * 0.36% 2,355
MEAOHEZ HHIAE 120,000 0 120,000
< 60,000
Al 60,000




FA TZAYER NI
M AMRZRSIEEZNEIIBEY
Sl MRS T2E I CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
401 A& HI 2= CH b 120,000 0 120,000
= 60,000
Al 60,000
01 A& HI 120,000 0 120,000
Osgdis HH=XNHH =H 5 2L HEA
0lHEZ EUlAYY 120,000, 0003 120,000
< 60,000
Al 60,000
E2J|s RA2c 7,723 8,265 A 542
201 Yete | 2,203 2,745 1542
01 At 22/l 1,203 1,745 VANGY. ¥4
OMEtx e 233101 IAANA R0l
2,000& * 58 * 100& = 95% 950
OMFXE Ch=BH T =H| 253
Oo=28s 90,0003 = 1H = 95% 86
Oogsts 100,000& * 1H = 95% 95
Ootd st 60,000& * 1% = 95% 57
O9 15,000& * 1H = 95% 15
02 =224l 1,000 1,000 0
oOuEXE =FI| KX 1,000,000 * 1Z& 1,000
206 28 520 520 0
01 MHZ 4l 520 520 0
OMNAXEE tH= HNHNES 520
(OFN == 20,0002 = 104 200
OctbrE 10,0002 * 104 100
OQtE &2 2,200& = 1004 220
5 Hha=32S 5,000 5,000 0
01 tH& 23S 5,000 5,000 0
OQLSCOHHAIA AFDLM HHAS
500,000& =« 103l 5,000
LoNSHHRY S X 420,000 0 420,000
s 210,000
Al 210,000
401 Al& HI & 28I 420,000 0 420,000
s 210,000
Al 210,000
01 A& HI 420,000 0 420,000
ORUNSHEHH S £X 420,000,000& 420,000
s 210,000
Al 210,000
AN HE Sd2 ZEAY 500,000 0 500,000
< 375,000
Al 125,000




2N
X ZH -
L= B

el

> >0

ZALZ2F XS
QRS E 2SI
[2I&lste S 28F |

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 500,000 0 500,000
< 375,000
Al 125,000
01 A& HI 500,000 0 500,000
YL HE Sdl2 =4 ALY 500,000,000 500,000
< 375,000
Al 125,000
SMNEIIBEY 1,845,008 1,450,789 394,219
AEHOIE EHSAY 558,511 997,117 A 438,606
201 L4l 30,833 37,258 N6,425
01 At 22l 27,353 31,778 A4, 425
OX&EN 018 B8 cIE MH
100& * 55,00000 = 95% 5,225
OFBZEAND NENLE 22 29
150,000& » 4304 = 95% 6,128
OXNEN WSAHENF LA+
80,000& =« 2003l 16,000
02 =224l 3,480 5,480 A 2,000
ORAMA NEAUAHA NAEH =2l (B0, o
& 8) 3,000,000& 3,000
OR4E NENUMHA &IIRS
40,000& = 12& 480
307 glz2tol & 24,366 22,000 2,366
05 RIZHRI & 3 24,366 22,000 2,366
OXNENUAHA ¥ R2HESE 29
24,366,000 24,366
401 Al HIZ 201 I 503,312 935,859 NA432,547
01 A& HI 500,000 930,000 A 430,000
OUSAMAHEI~-HEE L& NEHEZ HUISA
(L=0.85km) 220,000, 000& 220,000
O82ds Y3 L& NMHEZ=Z HUISAH(L=
0.17km) 80,000,000& 80,000
OES LH42 A2 NIHEZ2 FHUlAL (L=
0.9km) 200,000, 000& 200,000
03 Al R THHI 3,312 5,859 N2,547
ONENETZ HHUISAH AIE20HI
460,000,000& * 0.72% 3,312
NHEHAE FX 2l A 380,750 390,875 A 10,125
401 Al HI K 201 I 380,750 388,875 AB,125
01 A& tI 378,950 387,075 A8,125
OXNMHEZ KX 2l A (L=546.9km)
250,000,000 250,000
OXREANEZH EAIIAMH 20,000,000& 20,000
OX&EAN 2B20 XA 600,000& » 20X 12,000




M E2AE2
ABIE S

i
o ANQAHECRDE)MEA
CHel: =MDEI|BEA CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONEN NSHMHEXE HUAY
200,000& * 1009H £ 20,000
OMNBNFTEETZ EXY HUlAL
150,000& * 1000H £ 15,000
OXN&EN &S EXAMY
5,000,000& * 1004 & 50,000
ONENEZ FAZElAY AdALAHEA
250,000,000& * 4.78% 11,950
03 Al 2 THHI 1,800 1,800 0
ONENETZ RA 22l AIE20UbI
250,000,000& * 0.72% 1,800
NEHE L2 X SSHALS 379,000 0 379,000
403 Mt SHHSA=0l& 379,000 0 379,000
02 SO 2SOICHsH A2 X 2 A I 379,000 0 379,000
ONBUMEEZ XI=3HAF (L=350m)
379,000,000 379,000
NEAL LA ELHS 2FAY 1,000 1,000 0
203 YR =&t 1,000 1,000 0
03 Al =AY R =& 1,000 1,000 0
Ot RFA 1,000, 000& 1,000
S 2 A 2tel 63,082 61,797 1,285
201 L2l 48,082 46,797 1,285
01 At 22l 32,580 31,195 1,385
OEZALER LRA=EN MEH
10,000& = 80% » 103 * 95% 7,600
OJI=XZRH WEAE WM M
15,000& * 3005 * 95% 4,275
o=z &elMos MoXtE
30,0003 = 3052 = 43| = 95% 3,420
oM A HMLD
100,000& = 12H =« 23| 2,400
O+ (LIct&H,28/Z) 100,000& * 103l 1,000
O=E=8Xcl 238t =2
500,000& = 24 AL = 13] 1,000
OAHZAHESERE MEBESEEE
20,000& 254 500
OXNENE N8 223 1,840
O&4d 330,000& = 489t A« 95% 1,254
otd 154,000 * 4MIE = 95% 586
OSIHEERXN Hax=2
25,0003 = 128 = 95% 285
OLZAY =& SEXE X
900,000& * 1CH * 128 = 95% 10,260
02 =24l 15,502 15,602 A 100




FN: EZANEER NGHLH
M NQASHETRNEI YA
el SMDE)IBEY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OE4g® 2L B T2 X2yl 3,462
Os&Z2d SX2eldl
140,000& * 12& 1,680
OB ADBAtZ (DFinder) = XlZeltl
17,820,000& * 10% 1,782
OB 22 12,040
Oxtge B = 800
-SEi ¥ 300,000& = 1CH 300
-SEX &8 500,000& = 1CH 500
OXtg =Xl 11,240
-S&Xt 4,900,000& =« 1CH 4,900
-st= Xt 4,300,000& = 1CH 4,300
=PI 2,040,000& « 1CH 2,040
203 YR =&l 15,000 15,000 0
03 A Z=XH R =X H| 15,000 15,000 0
OXNZTIHE = 9,000,000& 9,000
oMY BHo Y AL FA
6,000,000& 6,000
D2AHE oI W BEHEZ2 ZHAY (D2AAH 2~ 250,000 0 250,000
M)
401 Al HI K 201 250,000 0 250,000
01 A& Bl 250,000 0 250,000
ONSMAHe~AUR HAEHEZE S A (L=5.
8km) 250,000,000 250,000
SZd NHEANEESEZ LAY 55,000 0 55,000
401 AIEHIZL 20 55,000 0 55,000
01 A& HI 55,000 0 55,000
o=sgad NENEZ HHIAY 55,000,000& 55,000
BFA NEAE ST U ZA 157,665 0 157,665
401 Al HI K 201 I 157,665 0 157,665
01 A& HI 157,665 0 157,665
OXFA NEHE ST FY| 3 AH(L=546.9Kkm)
150,000, 000& 150,000
OBFA NEHE ST FHISA AAIAE A
150,000,000& * 5.11% 7,665
=& T22 &3 1,941,000 733,000 1,208,000
g s2dc T2 E I I A 700,000 0 700,000
401 AIEHI L 2 CHEI 700,000 0 700,000
01 A& HI 700,000 0 700,000
oY &l T2E X E I AH(L=0.76km)
700,000,000& 700,000




AN S2AIE 28 X EIhe
HE: ANOERSEEZNSI|IE XY
el SE S22 HE (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A Mt S ZE T EZBA 467,000 0 467,000
401 Al HI L 20 HI 467,000 0 467,000
01 A& HI 467,000 0 467,000
oYHd atatel S 2T E 2 AHL=0.35km)
467,000,000& 467,000
o S22 (283F) T 2REEZH B A 540,000 0 540,000
401 Al HIL 201 540,000 0 540,000
01 Al &bl 540,000 0 540,000
ool g (22 FR) SR A 2 AH(L=0.45km
) 540,000,000& 540,000
CESW~0IXW2t AEAXZBAHAIZ18S) 105,000 0 105,000
401 AIEHIL 20| 105,000 0 105,000
01 A& HI 105,000 0 105,000
OL=S W~ Xw2t QI A X2 AH(L=1.3km)
105,000, 000& 105,000
QFE e TZEHIELHEA 84,000 0 84,000
401 Al HI L £ 0HHI 84,000 0 84,000
01 A& HI 84,000 0 84,000
O &l ==L EZAH(L=0.06km)
84,000,000& 84,000
0 el E2EEHEZA 45,000 0 45,000
401 Al HI L 2 0HHI 45,000 0 45,000
01 A& HI 45,000 0 45,000
O0ld B2l ==& Z AH(L=0.55km)
45,000,000& 45,000
HHSHAH(E2 A 22 X n) 385,167 374,618 10,549
DIR= sl 82,764 79,385 3,379
&l 82,764 79,385 3,379
201 LEt2 Y| 26,824 30,502 N3,678
01 AR 22| I 22,824 26,502 N3,678
OJl2gdsaigsHl 500,000& * 20 * 90% 9,000
OJI=&dl(=S&H|)
8,000& * 20Y » 82 * 12&8 * 90% 13,824
02 3524l 4,000 4,000 0
O™ &EHl SX22ldl 4,000,000 4,000
202 04| 28,800 32,103 N 3,303
01 2LHOHI 28,800 32,103 N 3,303
OJ|IEZHI 20,000& » 204 » 6 * 12& 28,800
203 &R =&H| 12,640 12,680 AN40




A E2AMEEE X9
HM: HMSHAH (T 2AEEE XHIe D)
Ee: I3 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 J|22HLR=AH| 6,000 6,000 0
OI=H(42) 6,000,000 6,000
02 RIS 2 =X H]| 2,440 2,480 AN 40
OFJIArHE 2 =& H| 40,0008 * 61Y 2,440
04 ENSHLRF=AH| 4,200 4,200 0
©J| =M (25210|6t) 350,000 = 12& 4,200
405 XHo&HF S HI 14,500 4,100 10,400
01 JHMHE =2 E F S H 14,500 4,100 10,400
OZ = A 14,000,000 = 104 14,000
OHel & D] 500,000& * 1H 500
olad 2 A Y| 302,403 295,233 7,170
Pallsl! 302,403 295,233 7,170
101 2124 d| 302,403 295,233 7,170
01 E2 238,069 234,561 3,508
OLBLE AIZ2IZ2R2%E
10,8413 * 61 = 30AI2F » 12& 238,069
02 JIEt& 2% 6,335 6,903 N 568
OAZAEIHAIIM(OIZE) A2AAZ22EE
8,798 * 29 x 30AI2t = 128 6,335
03 2IHA=ZZ2XHE %= 57,999 53,769 4,230
OWEXY hEQIA(LIZ) 52,230
oJl=3 32,567
-144 X} 2,713,840& » 1H » 128 32,567
o< 14,069
254 135,690 * 1H = 128 1,629
-tEY 220,000 ~ 1€ » 12& 2,640
—ERXER G 30,000 » 1H x 12& 360
-HEIZESY
18,940 * 1Y = 30AI2t = 128 6,819
= 50,000& ~ 18 « 12& 600
RS PNESE=, 101,040 * 1Y = 20 2,021
OY &=t 1,356,920& * 1Y * 23] 2,714
O=&l 140,000& * 198 = 12& 1,680
(@F~niy= 1,200
-8 03 (20214) 800,000& = 1Y 800
-A = (20208 A=22) 400,000 * 1 400
O42E XNXNHHEEZ 5,504
O=0d=z 22 50,670,000& * 4.5% 2,281
O=DAUEE B2
50,670,000& * 3.335% 1,690
O&INLEY R2E=2
1,690,000 * 10.25% 174
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= o
N & O & 2 & AN A
20218 & 20lah LEIG|IH S ZAH 2R XGMeEn ~ S2A of & 2 TH 1t
FA TZAYER T 2AED
M ZFATA U 94X tME E2nsEsd 2=
S9l: FRUM BATRY XJ| RE (S &2)
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CEMNEER TZ2AEN 11,289,785 20,709,817 A 9,420,032
AT A U 9SHQ otME T 2SS A5 11,225,243 17,591,603 A6,366,360
FRUE B9 Z2Y X)) 2F 4,850,000 15,005,000 A 10,155,000
EFO0IHANME L= & 2,000,000 0 2,000,000
403 MtXISHHE X201 & 2,000,000 0 2,000,000
02 SO 2SOICHeH 2R E A I 2,000,000 0 2,000,000
OHFEY GIOIIHAIC EXI3A 23
2,000,000, 000& 2,000,000
Jtotnxt 2 &EHIA 1,000,000 1,505,000 A 505,000
401 Al Bl 28I 1,000,000 1,505,000 A 505,000
01 Al 1,000,000 1,500,000 500,000
OJIDtLXZE EHBAM(AZZ 400, L=1.3km)
1,000,000, 000& 1,000,000
HHE(2Euiz~-Ed=s8) 23 A 600,000 0 600,000
ANEHI &b 600,000 0 600,000
01 A& HI 600,000 0 600,000
OHMZ(EELNXN2~FE =8 )& E 3 AHL=0.65
km, B=35m) 600,000, 000& 600,000
acleHE & 23282 41X 200,000 0 200,000
401 AIEHIZ 28I 200,000 0 200,000
01 A& HI 200,000 0 200,000
oaeleHg & HA=Z HXI(L=0.51km, B=5.5m)
200,000,000 200,000
FEuUI= HES A 50,000 0 50,000
401 AIEBIZ 28I 50,000 0 50,000
01 A& tl 50,000 0 50,000
OREBUXZE HLASAM(HZZ2 400, L=1.45km
) 50,000,000& 50,000
AstAE S L sALY 1,000,000 0 1,000,000
403 XIS E X201 E 1,000,000 0 1,000,000
02 S 2SHHEAE R E AL B 1,000,000 0 1,000,000
OAdstzEs YHsAY RE=
1,000,000, 000& 1,000,000
CHNE BotHel & AT A 2E 5,675,821 2,238,862 3,436,959
SAAY JEHAEX 24 786,000 234,000 552,000
401 Al&HI & 28I 786,000 234,000 552,000
01 A& HI 786,000 234,000 552,000
OJIEHAEX BA(12m0l &) 743,000,000 743,000
OM&AH BHEs =2 43,000




FA TZAYER T 2AED
Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2gsY == 400,000& = 30Z X 12,000
OB 248
200,000& = 30Z Xl = 2)4D| 2 12,000
OSJIEE =82 50,000& = 60 X 3,000
OJIBgEX Iz SIHEE =2
500,000& = 14Z X 7,000
ORSMARA 0I8EI SEXIY AL
Z0 B 4,500,000& » 2A 9,000
S20/HY AFHA FHI| 36,821 34,862 1,959
101 @124l 24,132 23,706 426
04 JIZHHZ2XNSE+ 24,132 23,706 426
OB4XZE BRERE E= 24,132
OBATE BRERY 2R
69,7603 * 2% x 262 » 63 21,766
O=0gd=s 2= 21,766,000& * 4.5% 980
OnE28z 23 21,766,0008 * 1.65% 360
OddMal EE = 21,766,000& * 1.03% 225
OI0HLEEZE L3
21,766,000& * 3.335% 726
OFIABEEEZE 23
726,000& = 10.25% 75
201 Let2d] 12,689 11,156 1,533
01 At 221l 9,025 7,600 1,425
OAI R &R D] 9,025
OANSTARI| AsHIE (s, AXUH)
300,000& = 25 X| = 95% 7,125
O0IXN=SEX g THxY
20,0003 = 1000H = 95% 1,900
02 =224l 3,664 3,556 108
Oz+=8 REZ 2,450 = 300# » 123 882
OASB(IIME) BE3 500,000& = 23l 1,000
OS2 ADBA = (Dfinder) 7 Xl &2 2=t
148,500& * 123/ 1,782
g2t S 2IHE B A 1,000,000 0 1,000,000
401 AIEHI L 201 1,000,000 0 1,000,000
01 A& HI 1,000,000 0 1,000,000
O2~Jt4 2t T2 & 3 AH(L=1.61km, B=10m)
1,000,000, 000& 1,000,000
Olsd MYEZ2 WHIIZ X 3A 1,000,000 0 1,000,000
401 Al HIZ 201 8] 1,000,000 0 1,000,000
01 A& HI 1,000,000 0 1,000,000
Ollsd MZYE= WEHIIE & X3 AH(L=7.0kn,
B=5—8.5m) 1,000,000, 000& 1,000,000




SA: CRAYER CRALD
Ha: BATA Y ASHQ FE TRISY 7S
Oel: CADE 2AH Y AHCA PH CERED
o
SN HH - (EH) - HRAY - BES 0l &k o4 e Hl DS 2
HE 2 =3B A 500,000 0 500,000
401 A& HI LS O 500,000 0 500,000
01 Al&HI 500,000 0 500,000
O 2 =FBAH(L=0.75kn, B=12—25m)
500,000, 0002 500,000
NZ2S OHFEZYM-HDTYAL S2H4A 700,000 800,000 £100,000
401 A& HI LS OH bl 700,000 800,000 £100,000
01 Al&HI 700,000 800,000 £100,000
ONZS OIFTYA-HDTBYAL SEIHA (L=
0.34kn, B=12m) 700,000, 0002 700,000
OIF2 DI2TY2 He TA 500,000 0 500,000
401 A& H LSO bl 500,000 0 500,000
01 Al& I 500,000 0 500,000
OO0IEZ T2 &R AH(L=0.5kn, B=15->20n)
500,000, 0002 500,000
=S €4 JYE HETBA 500,000 170,000 330,000
401 A& HIL 2T bI 500,000 170,000 330,000
01 Al 500,000 170,000 330,000
OFSE E4 MY JHHBAH(L=0.54kn, B=15
m) 500,000, 00024 500,000
SAMNSCUHARE JYT2 HE DA 353,000 0 353,000
401 A& HIL S OHHI 353,000 0 353,000
01 Al&HI 353,000 0 353,000
OSHE 282 SLMSTHAIT NYT2 N
& B AH(L=1.20kn, B=15~20m)  353,000,0002 353,000
YN~FAN TRNEBA 300,000 0 300,000
401 A& H LSO HI 300,000 0 300,000
01 Al&HI 300,000 0 300,000
OYM~EA2 S2HABAH(L=1.69%n, B=20m)
300,000, 0002 300,000
T2 A& fx2e 199,422 147,741 51,681
M (E2)2e 49,422 47,741 1,681
201 YEr2 Y| 47,422 45,441 1,981
01 At 22t 44,298 41,893 2,405
O=SWa Bel442 27,134
OZH=Y +48
885,4008 * 30X * 95% 25,234
OSII=E =22 50,0008 * 402Xl * 95% 1,900
ORRTLAEE 2HDXA 2 1,269
SEEE 1502 * 6,00000 * 95% 855




FA TZAYER T 2AED
HH: BACA (U ASHQ oINS TEDSY 7F
¢elr &2 MM sI&2 (=& J)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
O XM 72,600& * 62fA * 95% 414
O=sMize 2272
70,000& = 300H = 95% 1,995
OAZ A5 BHLY
100,000& = 5% « 53] 2,500
O=RM4 & T2HLEAR e Xz
900,000& * 1CH * 128 = 95% 10,260
O8 9 FM(SE0IE2 o e AL =
2) 1,200,000& * 95% 1,140
02 =224l 3,124 3,548 A424
O=RML & T2OHEHR XX 7FHI
1,3773 = 8elE * 240 2,644
ORHIY HENAAAY 75 A BHEN 2
= 40,000& = 12& 480
203 YR =&t 2,000 2,000 0
03 AIMFAH S =AY 2,000 2,000 0
OL=Z2E gR=a 2,000,000& 2,000
28 ZelAlAE 2e] 150,000 100,000 50,000
201 Let24d] 100,000 100,000 0
02 =24l 100,000 100,000 0
ONZEets 2elAlag | 22
100,000, 000& 100,000
405 TtHabH S| 50,000 0 50,000
01 AL EFH S 50,000 0 50,000
ONZEets ZelAA8 A wH
50,000,000& 50,000
sEXNG LS AT JIPAIE &= 500,000 200,000 300,000
EH12~NEO0IE R3E2 W SA 500,000 0 500,000
401 Al Bl 28I 500,000 0 500,000
01 A& HI 500,000 0 500,000
OEHIZ~MEOIE R3IEE HEZBAM(L=1.5
km, B=20m) 500,000, 000& 500,000
HE2IYZH(SZAED) 64,542 59,064 5,478
Jl=23 4l 64,542 59,064 5,478
Jl23Hl 64,542 59,064 5,478
201 £B-2dH| 28,215 28,051 164
01 At 22l 25,461 25,297 164
OJlege=adZHl
500,000& = 23% * 90% * 97% 10,040
O=&HI(J1E&HI)
8,000% * 23H * 8L = 128 » 90% * 97% 15,421
02 =224l 2,754 2,754 0




FA TZAYER T 2AED
M HY2IAZH (=2 AL
¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OH#F AR EHl S AHI 2,754
O=ALJ| 19,415,000 = 1CH * 8% 1,554
OEZ=2HIZEH 15,000,000& * 1CH * 8% 1,200
202 oddl 32,127 26,813 5,314
01 = LH o4 1l 32,127 26,813 5,314
OJIE&l
20,000 * 23Y = 62 * 128 * 97% 32,127
203 YR =& 4,200 4,200 0
04 NI 4,200 4,200 0
OJ| & (2521 0136t) 350,000& = 12& 4,200




Al Of &8 AH & B Al A
20218 & 20lah LESIH SZAIE 2R XGHeEn ~ S 2 A of & 2 TH 1t
FA: TZALER SHE YD
M UHL SMots etAE MAEGHA
&2 Mol2RH MG elmZgt 25 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CEMGES SHE LT 8,281,886 16,750,770 A 8,468,884
= 1,556,000
< 695,000
Al 6,030,886
A BHGl=e MG MABA 8,229,664 16,702,682 A8,473,018
= 1,556,000
< 695,000
Al 5,978,664
M2 FEH etMEr olmet =5 2,400,411 9,621,487 AT,221,076
= 150,000
Al 2,250,411
S=HBAE S22 107,563 107,425 138
201 2et24d] 67,563 67,425 138
01 At 22l 2,763 2,625 138
OUEXI? =MIAE MI|otE 22| CHEH
S ahak= 330,500& = 6& 1,983
OMAX P =MIANE M| otE 2| CHEH
SRk = 130,000& * 6 780
02 232gHl 64,800 64,800 0
O A& & HlI S X bl 5,000,000& = 63l 30,000
022323 34,800
o&IIe3 2,500,000& = 24 « 63 30,000
Osdad AIEZ
200,000& * 20 A 128 4,800
401 Al IR 201 I 40,000 40,000 0
01 A& HI 40,000 40,000 0
OS=MFAL 2te 20,000,000& = 23] 40,000
NSt |X 2l At 150,000 150,000 0
< 150,000
401 Al HIZ 201 Y] 150,000 150,000 0
< 150,000
01 A& HI 150,000 150,000 0
OXYStE S 2elAY 150,000, 000& 150,000
< 150,000
At AGHA HUIANY (HBHANY) 756,738 2,100,000 A 1,343,262
401 AIEHI L 2 CHYI 756,738 2,100,000 A 1,343,262
01 A& HI 752,000 2,100,000 A 1,348,000
O&r A 8tA FHHIAFY (L=3.3km)
752,000,000& 752,000
03 Al S HHI 4,738 0 4,738
O&terActE FHIALY  752,000,0008 = 0.63% 4,738
SHAGHE HUIAIY (HEAY) 1,003,600 1,000,000 3,600




2N

M UHL SMots etAE MAEGHA
&2 Mol2RH MG elmZgt 25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 1,003,600 1,000,000 3,600
01 A& HI 1,000,000 1,000,000 0
OZHAGHE HUIALY (L=2.52km)
1,000,000, 000& 1,000,000
03 AIE 2 THHI 3,600 0 3,600
O&sEA0HE FHIAY
1,000,000,000& * 0.36% 3,600
5SS d4FA0tE FUISA 100,000 0 100,000
401 AIEHI L 2CHEI 100,000 0 100,000
01 A& HI 100,000 0 100,000
OMFABHA FHUIBAHL=0.4km)
100,000, 000& 100,000
ACHE S E:=AtY 200,000 200,000 0
401 AIEHI L 2 CHEI 200,000 200,000 0
01 A& Bl 200,000 200,000 0
OAotd |AE =4l 40,000,000& = 53| 200,000
SUANY BHY DXNSEXN B4 82,510 63,980 18,530
201 £B-2d| 2,510 3,980 21,470
01 At 22l 2,510 3,980 A1,470
OBAHREA T2 S22
130,000& » 12&8 1,560
OB 4etHE M= 1,000& = 1,000% * 95% 950
401 Al HIZ 2018 80,000 60,000 20,000
01 A& HI 80,000 60,000 20,000
OAotd OIXNSEX Eatdl 80,000
o244l ¥ =8 S 80,000,000& 80,000
AtEF Dt XtH0l EEot= MEiotE =4 938,462 2,287,200 A 1,348,738
< 545,000
Al 393,462
At E MEjGHE SJAAY (HEAY) 838,462 2,000,000 A 1,161,538
< 545,000
Al 293,462
401 Al HI R 201 I 838,462 2,000,000 A 1,161,538
< 545,000
Al 293,462
01 A& HI 838,462 1,993,000 A 1,154,538
OX&std MESIAE =SRAAY 838,461,540& 838,462
< 545,000
Al 293,462
MEfolE SEMG AZFZ2UHE 100,000 102,200 A 2,200
401 Al HIZ 2018 100,000 102,200 A2,200




2N
X ZH -
L= B

el

HEot
MEotA =4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 100,000 102,200 A2,200
OZE2& MEHIE =SJ]AY AZFZ2LHEY 292
(3xtE =) 40,000,000& * 13l 40,000
O8SFd MEHIE =SJAY AZFZ2LHE 22
(3xtE &) 60,000,000& * 13l 60,000
AHEF D XtH 0l E ot MEotd 8 4,890,791 4,793,995 96,796
= 1,556,000
Al 3,334,791
PaE NMEHEZ, MMI 0|3 ALY 503,150 1,000,000 A 496,850
401 Al HI K 201 503,150 1,000,000 A 496,850
01 A& HI 500,000 992,860 A 492,860
ORME NEAZZ, &M2 0|t AL (L=7.
5km) 500,000,000 500,000
03 Al 2 THHI 3,150 7,140 A 3,990
OREE NENE=Z, & =Z 0|3 ALY
500,000,000& * 0.63% 3,150
g2 SHE MYEE2 ZHEIA 221,000 0 221,000
401 AIEHI L 20 221,000 0 221,000
01 A& Bl 221,000 0 221,000
oOdeH RAN HMYTZ L EHSAH(L=1.2kn,B=
3~4m) 221,000,000& 221,000
SHE G Mgd] HsALY 120,000 110,000 10,000
= 84,000
Al 36,000
401 AIEHI L 2 CHYI 120,000 110,000 10,000
= 84,000
Al 36,000
01 A& HI 120,000 110,000 10,000
Oot&aot+ Medl ZatAard 120,000, 000& 120,000
= 84,000
Al 36,000
=Jtotd | A2 Ar 1,472,000 1,300,000 172,000
= 1,472,000
201 £B-2d| 135,000 97,000 38,000
= 135,000
02 =224l 135,000 97,000 38,000
03323 45,000
Oti==2 S8R
88,0003 = 35014 = 128 36,960
= 36,960
O3 &8JIR23 670,000& = 123 8,040
= 8,040
O A& EHl =Xl 90,000, 000& 90,000
= 90,000




M EZAE=22 G

M UHL SMots etAE MAEGHA
S AP 0l SNl MEstd 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al& Bl & 28I 1,337,000 1,203,000 134,000
= 1,337,000
01 A& HI 1,333,000 1,199,000 134,000
O=Jtotd S 2elAtY 1,333,000, 000& 1,333,000
= 1,333,000
03 A& =TI 4,000 4,000 0
O=Jtotd KX ZclAt 4,000,000& 4,000
= 4,000
HEE &= GtE 2 2,025,259 1,848,896 176,363
201 Lt 2| 779,423 733,099 46,324
01 At 22l 544,583 516,619 27,964
O1AL 10t ME2s 88 £ E5 9,967
OBXt 6,000& = 55000 = 95% 3,135
&5t 15,000& = 7000 = 95% 998
a2 500& * 2,50000 * 95% 1,188
OM= % #AE5 22,0008 * 5500 * 95% 1,045
OZEAM 4,000& * 55000 * 95% 2,090
Og+=% 70,000 * 7JH * 95% 466
O& 100,000& * 50 = 95% 475
SEHIY 200,000& * 34 * 95% 570
OFH LXB(2HII, €2)
500,000& = 20CH 10,000
Oota 22l MY NEEZE ISR
900,000& = 12& = 95% 10,260
oRyd 2 o Z2aaA
70,0003 * 14012 + 43 3,920
O&I|IetA 22 (2 2 S)
200,000& » 1104 « 123 26,400
OXIHE HIISH HISAH(ZE*T)
450,000 = 1004 450
Oo+=%& 2 2 =8
100,000& = 50 « 12& 6,000
OREE & A&t (B2 sHES A
82,000,000& 82,000
ORYHE FAUE> U (2T B A) 394,186
og+e23 26.353& = 80,000& » 180€ 379,440
OANEAMEZ 1.024& = 80,000&€ * 180 14,746
ORRAE =Y 1,400
OJdlzactdzefds =
100,000& » 4Y « 23] 800
O3g&EE a9 30,000& = 5% =« 43| 600
02 =224l 234,840 216,480 18,360
Oxg ==l 1,275& = 82lE * 240 2,448




M EZAE=22 G

M UHL SMots etAE MAEGHA
SRl AL XreH0l Sicte MEotd 28 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXIILB(H=F =2, 20,8, 3HAE)
180,000& » 614 « 128 131,760
oast== 23 (3&4 . S=U)
000& = 130& = 50 * 128 7,800
OSHRS (=&, ==, CCTV, BZ T 5)
72,0003 = 3802 + 128 32,832
OGtE A E ZHl SAE =4I
300,000& * 200K £ 60,000
203 YR =&l 2,000 2,000 0
03 AIMF=XH R =AH| 2,000 2,000 0
Osta& gR=2 2,000,000 2,000
206 M= Hl 15,000 12,000 3,000
01 M= 4l 15,000 12,000 3,000
OdtdAdE 2282 (X, FAS3 40
25 5) 15,000, 000& 15,000
305 tHat=2 S 2,000 2,000 0
(NI PAR=E= 2,000 2,000 0
OotEAIEE WE2F QI8 TIIoHbH &
1,000,000 =+ 23l 2,000
401 A& HIZ 2018 1,026,208 899, 169 127,039
01 A& HI 1,022,484 893,553 128,931
OB IR I ALY 347,554
OdtMZ E2I] At
482% * 334,000 * 13 160,988
ORad &OBE M=
691& * 42,02m » 13] 29,086

O2ch Roial=E HAH
600  150,000m = 13| 90,000

Of24d EX =M FHIAY

*

48220 * 140,000 * 13| 67,480
OB AKX Bl A 569,000

OBtd |22 (+22e,ZL NE222)
150,000,000 150,000

OMNETY 2 S4(HE A2 HYES)
100,000,00024 100,000

Ostd HIANES S4HI(WEE W2, =
UAL, BHHA S) 20,000,0002 20,000

ORuE SZV2ANY(JBA, 68 HAS)
270,000, 0002 270,000

OSMH YAE sz (LT L A
WA &l 850 4) 8,000,000 8,000

OSMd SM&H sz (42 e,
CCTV S) 21,000,0002 21,000

ORMH MHME BOHS HIMY(HAD-SH
) 100,000,000 100,000




M EZAE=22 G

M NADY ENHols e MHSIA
SHol: ARD X0l BMGE MESE DE (S5 &)
. _ - =
SA BB (SH) - NRAY - B Ol At o ﬁ}l&ﬁ HRE2
b |

OR4d MMZ LotsS XA 2 AIEAHI

100,000,0008 * 5.93% 5,930
03 Al 2 THHI 3,724 ,616 A1,892
ot &2l 1,034,356,0009! * 0.36% 3,724
403 THXISHH S XH2 0l ™ 200,628 628 0
02 JI2HS Ofl CH 8 X = X 91 4 A S bl 200,628 628 0
OI4+F 9I(+) 2ol(ME, 58, 32,44)
50, 157,0008 * 442 200,628
2TWH(5HE) 22 23,789 648 20, 141
201 Yot Fh| 3,789 648 141
01 Ak 22l 564 423 141
O ABR 2T DXA o4 564
OF=F 150& = 2,50000 = 95% 357
0D A 72,6002 * 32 A« 95% 207
02 232l 3,225 225 0
ORRMA 2las2 3,225
OFAsY 448 545,0002 * 52 X 2,725
oSl 248 50,0008 * 10Z X 500
401 AIEHI L 2T b 20,000 0 20,000
01 Al 20,000 0 20,000
£ HIZY BATA 20,000,008 * 1HL 20,000
YFES FHIAMY (ST BM) 525,593 531,451 A5,858
307 £12+0| & 280,000 1000 4,000
02 IAAMNASE 280,000 000 4,000
OHBASY HFHAUE Y (22)
270,000,00024 270,000
ORIzl X RAV2l L AN (HE)
10,000,000%! 10,000
401 AIEHI L 2T bI 179,515 071 13,444
01 Al bl 179,515 071 13,444
OYFHNY FUSAANY (IS, 20/81, &
o) 179,515,0002! 179,515
402 I X2 0| H 66,078 380 £.23,302
01 QIAXHEALEE (RATHE) 66,078 380 723,302
O& 822 SIIHTYXI AL (Ih o)
22,026,000%! 22,026
O2F 12l S ALK AL (Obeiel)
22,026,000%! 22,026
oHIel 0232 FHIAMY (W)
22,026,000%! 22,026
BHL2 LAY (TR2AMY2S SIS D) 52,222 48,088 4,134




S B G(SA) - NRANY - BES il 2
Jl= &l 52,222 48,088 4,134
Jl=dl 52,222 48,088 4,134
201 Let24d] 20,542 21,033 A 491
01 At 22/l 20,542 21,033 A 491
OJlege=adZl 500,000& = 18 = 90% 8,100
o=sgd (OIE2dl)
8,000& ~ 18 * 8% » 12&  90% 12,442
202 o4dl 26,880 23,455 3,425
01 SLHOYI 26,880 23,455 3,425
OJIEZH 20,000 = 17 24,480
O AN 200,000& 2,400
203 YR =&l 3,600 3,600 0
04 REN2ELRZ=LH 3,600 3,600 0
O©J|&EH (202! 015t) 300, 3,600
405 TtHobFH S| 1,200 0 1,200
01 AL ESH SH 1,200 0 1,200
Otfl+=& & &4 ARE 22X+ 300,000& * 404 1,200




